Name: Adding two numbers

Two digit addition

1) 12+71= 11) 60 + 86 =
2) 53+64= 12) 80 + 36 =
3) 16+29= 13) 36 + 36 =
4) 23+52= 14) 66 + 50 =
5 29+ 12 = 15) 13+ 75 =
6) 94 +99= 16) 90 + 84 =
7) 68+ 27 = 17) 70 + 29 =
8) 43+ 49 = 18) 60 + 78 =
9) 34+68= 19) 91 + 65 =
10) 21 +51 = 20) 72 + 97 =

Answers, fold under: Mark your work when you have finished.

1) 83 6) 193 11) 146 16) 174
2) 117 7) 95 12) 116 17) 99
3) 45 8) 92 13) 72 18) 138
4) 75 9) 102 14) 116 19) 156
5) 41 10) 72 15) 88 20) 169

www.studyladder.co.uk



